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1. Find	the	set	of	points	satisfying	the	equation(−14x+10y−42) 0=

(i) , , , ,( , )(−2) 75 ( , )(−1) 145 ( , )1 16
5 ( , )1 28

5 ( , )2 7 (ii) , , , ,( , )(−2) 75 ( , )(−1) 145 ( , )(−2) 115 ( , )1 28
5 ( , )2 7

(iii) , , , ,( , )(−2) 75 ( , )(−1) 145 (0, )21
5 (0, )33

5 ( , )2 7 (iv) , , , ,( , )(−2) 75 ( , )(−1) 145 (0, )21
5 ( , )1 28

5 ( , )2 7

(v) , , , ,( , )(−2) 75 ( , )(−1) 145 (0, )21
5 ( , )1 28

5 ( , )4 9

2. Find	the	set	of	points	satisfying	the	equation y (−56
x+136 )=

(i) , , , ,( , )(−2) 236 ( , )(−1) 3 (0, )13
6 ( , )1 4

3 ( , )2 1
2 (ii) , , , ,( , )(−2) 236 ( , )(−1) 3 (0, )13

6 ( , )1 4
3 ( , )4 5

2

(iii) , , , ,( , )(−2) 236 ( , )(−1) 3 ( , )1 7
6 ( , )1 4

3 ( , )2 1
2 (iv) , , , ,( , )(−2) 236 ( , )(−1) 3 (0, )13

6 (0, )73 ( , )2 1
2

(v) , , , ,( , )(−2) 236 ( , )(−1) 3 ( , )(−2) 16 ( , )1 4
3 ( , )2 1

2

3. Find	the	set	of	points	satisfying	the	equation x (−1311
y+2711)=

(i) , , , ,( , )(−2) 4913 ( , )(−1) 3813 (0, )27
13 ( , )1 16

13 ( , )4 31
13 (ii) , , , ,( , )(−2) 4913 ( , )(−1) 3813 (0, )27

13 ( , )1 16
13 ( , )2 5

13

(iii) , , , ,( , )(−2) 4913 ( , )(−1) 3813 (0, )27
13 (0, )29

13 ( , )2 5
13 (iv) , , , ,( , )(−2) 4913 ( , )(−1) 3813 ( , )1 14

13 ( , )1 16
13 ( , )2 5

13

(v) , , , ,( , )(−2) 4913 ( , )(−1) 3813 ( , )(−2) 1
13 ( , )1 16

13 ( , )2 5
13

4. Find	the	set	of	points	satisfying	the	equation y 12x=

(i) , , , ,( , )(−2) (−24) ( , )(−1) (−12) ( , )1 (−1) ( , )1 12 ( , )2 24

(ii) , , , ,( , )(−2) (−24) ( , )(−1) (−12) ( , )(−2) (−2) ( , )1 12 ( , )2 24

(iii) , , , ,( , )(−2) (−24) ( , )(−1) (−12) (0,0) (0, )13 ( , )2 24 (iv) , , , ,( , )(−2) (−24) ( , )(−1) (−12) (0,0) ( , )1 12 ( , )2 24

(v) , , , ,( , )(−2) (−24) ( , )(−1) (−12) (0,0) ( , )1 12 ( , )4 26



5. Find	the	set	of	points	satisfying	the	equation(5x+4y−2) 0=

(i) , , , ,( , )(−2) 3 ( , )(−1) 74 (0, )12 (0, )14 ( , )2 (−2) (ii) , , , ,( , )(−2) 3 ( , )(−1) 74 ( , )(−2) (− 3
2 ) ( , )1 (− 3

4 ) ( , )2 (−2)

(iii) , , , ,( , )(−2) 3 ( , )(−1) 74 (0, )12 ( , )1 (− 3
4 ) ( ,0)4 (iv) , , , ,( , )(−2) 3 ( , )(−1) 74 (0, )12 ( , )1 (− 3

4 ) ( , )2 (−2)

(v) , , , ,( , )(−2) 3 ( , )(−1) 74 ( , )1 (− 1
2 ) ( , )1 (− 3

4 ) ( , )2 (−2)

6. Find	the	set	of	points	satisfying	the	equation y 0=

(i) , , , ,( ,0)(−2) ( ,0)(−1) (0,0) ( ,0)1 ( ,0)2 (ii) , , , ,( ,0)(−2) ( ,0)(−1) (0,0) ( ,0)1 ( , )4 2

(iii) , , , ,( ,0)(−2) ( ,0)(−1) (0,0) (0, )1 ( ,0)2 (iv) , , , ,( ,0)(−2) ( ,0)(−1) ( , )1 (−1) ( ,0)1 ( ,0)2

(v) , , , ,( ,0)(−2) ( ,0)(−1) ( , )(−2) (−2) ( ,0)1 ( ,0)2

7. Find	the	set	of	points	satisfying	the	equation x 3=

(i) , , , ,( , )3 (−2) ( , )3 (−1) ( ,0)3 ( , )3 1 ( , )5 4 (ii) , , , ,( , )3 (−2) ( , )3 (−1) ( ,0)3 ( , )3 1 ( , )3 2

(iii) , , , ,( , )3 (−2) ( , )3 (−1) ( ,0)3 ( , )2 2 ( , )3 2 (iv) , , , ,( , )3 (−2) ( , )3 (−1) ( , )4 (−1) ( , )3 1 ( , )3 2

(v) , , , ,( , )3 (−2) ( , )3 (−1) ( , )1 (−2) ( , )3 1 ( , )3 2

8. Which	of	the	following	equations	satisfy	the	given	points ?, , , ,( , )(−2) 18 ( ,0)(−1) (0, )(− 1
8 ) ( , )1 (− 1

4 ) ( , )2 (− 3
8 )

(i) (−2x−16y−2) 0= (ii) y (−18
x+578 )= (iii) x 9= (iv) y 6= (v) x (18

y+334 )=

9.
Which	of	the	following	equations	satisfy	the	given	points

?, , , ,( , )(−2) (− 87
11 ) ( , )(−1) (− 95

11 ) (0, )(− 103
11 ) ( , )1 (− 111

11 ) ( , )2 (− 119
11 )

(i) x ( 811
y−2611)= (ii) x (−6)= (iii) y (− 8

11
x−10311 )= (iv) (8x+2y−1) 0= (v) (−8x−11y−28) 0=

10. Which	of	the	following	equations	satisfy	the	given	points ?, , , ,( , )(−2) 3 ( , )(−1) 74 (0, )12 ( , )1 (− 3
4 ) ( , )2 (−2)

(i) y 0= (ii) (−13x−4y−3) 0= (iii) y (−134
x+914 )= (iv) x (134

y+7)= (v) (5x+4y−2) 0=

11. Which	of	the	following	equations	satisfy	the	given	points ?, , , ,( , )(−2) (−3) ( , )(−1) (−3) (0, )(−3) ( , )1 (−3) ( , )2 (−3)

(i) x ( 311
y+4211)= (ii) y (− 3

11
x−2411)= (iii) y (−3)= (iv) (−3x−11y+5) 0= (v) (4x+3y−2) 0=

12. Which	of	the	following	equations	satisfy	the	given	points ?, , , ,( , )(−2) (−2) ( , )(−2) (−1) ( ,0)(−2) ( , )(−2) 1 ( , )(−2) 2

(i) (14x+35y−10) 0= (ii) y 9= (iii) (−7x−14y+35) 0= (iv) x (12
y−132 )= (v) x (−2)=



 1)	(iv)  2)	(i)  3)	(ii)  4)	(iv)  5)	(iv)  6)	(i)

 7)	(ii)  8)	(i)  9)	(iii)  10)	(v)  11)	(iii)  12)	(v)
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